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yression to a single logarithm. S
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Expand each logarithm. -
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53) log 1000 =3 I
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' Rewrite each equation in logarithmic form.
| Y
. 55) 3*=81 56) 8% =64

\Dﬁasi:q ‘Dﬁ‘a LY = L ‘

58) 20” =400

B
:

'i.‘ [ -.-.

LT L 'gl-"
“"o‘. . : 1 | N
i". - ; 1

|




lve each equation. Remember to check for extraneous solutions.
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Find the inverse of each function.

Factor each and find all roots. One root has been given.
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4. You have saved up some money. You decide

'0 mvest your money in a fund that compounaks
continuously at 5%. How many years does it tak

¢ for you to triple the present amount?
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b. the x-intercept ( 3 ,O)
¢. any vertical asymptotes Y = 2
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ey have derived a price

7. Pickles and Peeps are starting a company selling poppers. Th
given by € (x) 3x+ 25

equatlon,p(x) — —x2 4+ 50x. The cost to produce X pOppers is
Write a function that represents their proﬁt ..
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8 The Smith’s bought a boat for $9.,500 three years ago. If the boat depreciates at a
per year, how much is the boat worth now?” %
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